Quiz # 1 Name:

Date: 11/9/2024
Math 128A - 104: Fall 2024

For full credit please fully simplify your answers.

Problem 1

Consider the function f(z) = 42° — 3z — 2 on the interval x € [0, 1].
1. Find the maximum of the function on this domain.
2. Find the minimum of the function on this domain.

3. Does this function have a root xo where f(x¢) = 0 on this domain? Justify your answer.



Problem 2
Find the limit and rates of convergence of the following function as h — 0:

f(h) = e 4 2 cos(h)



